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. SERIHbD TiRIZHEET S SIER N
ﬁfﬁi TREOBFDOESLADKRES TREQHESILHDOKRES TREOBIFOESLADKRES TREDHBESSEADKES
&5 B 4 B | TimHSOEH NDKRES X 4 TEHMLDKE| B& NDKRES R 4 B | Lmhoots NDOKRES B 4 HEhsOhS | B NOKRES
(m) (m) (kN/m) BB (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/ m)
7 100kN/m##82% | 1.00 | 0.00 ~ 3.35 153.70 | 3mZE#BZ 5| 000 ~ 1.99] 3.86 20.65 | 100kN/m%E#BZ% | 1.00 | 10.76 ~ 66.15 153.70 |3mZE#BZ 3| 3000 ~ 6615 5.86 20.65
FhnLst 1.00 | 385 ~ 1L13 100.00 | Fnhst | 1.99 ~ 1113 3.00 16.05 st 1.00 | .00 ~ 10.76 100.00 | =nLst | 5.00 ~ 3000 3.00 16.05
2 100kN/m##82% | 1.00 | 0.00 ~ 3.55| 157.33 |3mEBZB| 000 ~ 209 | 3.93 21.02 | 100kN/miZz#825 | 1.00 | 1061 ~ 6714 157.33 |3m&EEZB| 3000 ~ 67.14| 3.93 21.02
FhnLst 1.00 | 35656 ~ 1134 100.00 | st | 209 ~ 11.34| 3.00 16.05 st 1.00 | .00 ~ 1061 100.00 | #ndst | .00 ~ 30.00| 3.00 16.05
3 100kN/m%#82% | 1.00 | 0.00 ~ 3.56 157,42 |3mZE#BZ 5| 000 ~ 209] 3.93 21.03 | 100kN/m%#8z25 | 1.00 | 1061 ~ 6712 157.42 |3m&xBZ5| 3000 ~ 67.12] 3.93 21.03
ZFhLst 1.00 | 366 ~ 1134 100.00 | #hst | 209 ~ 1134] 3.00 16.05 zhnLs 1.00 | 500 ~ 1061 100.00 | #hlst | .00 ~ 30.00| 3.00 16.05
4 100kN/m##82% | 1.00 | 0.00 ~ 3.36 153.88 | 3mZz#BZB| 0.00 ~ 1.99| 3.86 20.66 | 100kN/m%#8z% | 1.00 | 10.75 ~ 6821 153.88 | 3mE#BZ 3| 3000 ~ 6821 3.86 20.66
FnLst 1.00 | 336 ~ 1114 100.00 | =hst | 199 ~ 1114| 3.00 16.05 Thils 1.00 | .00 ~ 10.75 100.00 | #ndst | .00 ~ 30.00| 3.00 16.05
5 100kN/m##82% | 1.00 | 0.00 ~ 2.76 143.57 |3mEBZB| 000 ~ 1.74 | 3.70 19.83 | 100kN/m%#82% | 1.00 | 11.43 ~ 66.19 143.57 | 3mEBZ S| 4000 ~ 66.19| 3.70 19.83
FhnLst 1.00 | 276 ~ 1054 100.00 | =nst | 1.74 ~ 1054| 3.00 16.05 FhnLst 1.00 | .00 ~ 11.43 100.00 | #hlst | .00 ~ 40.00| 3.00 16.05
100kN/m# 82 % = ImEBZD 2 100kN/M%Z#BZ % ~ ImEBZD #
ZhLst ~ ZFhList ~ ZFhLlst ~ ZhLst ~
100kN/mi#%#82 % ~ ImEBZD ~ 100kN/M%Z#BZ % ~ ImEBZD &
Zhllst ~ ZhList ~ zhLst ~ zh st =
100kN/m##82 % ~ ImEBZD ~ 100kN/mM##BZ % ~ ImEBZD ~
Zhst ~ ZhList ~ zhLst ~ st =
100kN/m% 82 % ~ ImEBZD ~ 100kN/M#E#BZ % ~ ImERBZD ~
ZhLlst ~ zhus ~ zhs ~ Zh st ~
100kN/mi##82 % ~ ImEBZD ~ 100kN/mM%#BZ % ~ ImEBZD =
zhst ~ ZFh st ~ zhst ~ Zns -
100kN/m##82 % ~ ImEBZD ~ 100kN/M##BZ % ~ ImEBZD -
Zhilst ~ ZhList ~ zhst ~ zhList =
100kN/m# 82 % ~ ImERBZD ~ 100kN/mM#E#BZ % ~ ImEBZD ~
Zhst ~ ZhList ~ Zzhest ~ st ~
100kN/m##82 % ~ ImEBZD ~ 100kN/mM%E#BZ % ~ ImERBZD 2
Zhilst ~ ZFhList ~ ZhLlst ~ zh st ~
100kN/m##82 % ~ ImEBZD ~ 100kN/mM##BZ % ~ ImEBZD =
Zhilst ~ ZFhList ~ zhst ~ Zh st ~
100kN/m##82 % ~ ImEBZD ~ 100kN/M#Z#BZ % ~ ImERBZD ~
ZhLlst ~ Zh st ~ Zhst ~ zh st ~
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